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1. One of the following methods possesses the characteristic of 

‘Objectivity’ at the highest level.  
 1. Observation method 
 2. Interview method 
 3. Case study method 
 4. Experimental method 
 •θχΚηΟΞσ°ο ×[ΞΥιΘτûΤ ≅ƒΚ ≅Ζ↑ο 

∆ρΖ Øû[  

 1. ∆σßúΡôχΚο Øû[ 

 2. úΡνΚôΠο Øû[ 

 3. Θ±Υôρ ΣƒÜ Øû[ 

 4. Σ↔úΜôΘû∴ Øû[ 

 

2. One of the following is not related to the scope of Educational 
psychology 

 1. Methods of Learning 
 2. Educational philosophy 
 3. Development of thinking 
 4. Educational statistics 
 Κο↑ ∆Ζ↑Υο ΦοûΩχÏι ùΘôΟν♦οΩôΘ Ιτß 

 1. Κσ[ο Øû[Κρ 

 2. Κο↑ ΘιÕΞ↑Υο 

 3. ′ϕΘû∴ ΞΖνε′ 

 4. Κο↑ ×ρ↓♠Υο 



3. Fill in the blank  
 Development = f (maturation ´ _____)  
 1. Intelligence 
 2. Imitation 
 3. Learning 
 4. Personality 
 ùΞσ°ΟιûΘ ♣ςκ×Κ− 

 ΞΖνε′ = f (ØƒνÜ ♣ûΩ ´ _____)  

 1. ÖηΠ°Ü 

 2. úΣôΩε ùΜµΘο 

 3. Κσ[ο 

 4. ΑÞûΤ 

 

4. The following statement is not related to cross – sectional 
approach 

 1. The same sample will be observed for a long period 
 2. Short term observation 
 3. It won’t examine the cause and effect relationship 

between variables 
 4. Variables are observed several times at specific 

intervals 
 •θχΚηΟΞσ°ο ÏßχÏ ùΞγÓ ≅ÔÏØû[ÙΟτ 

ùΘôΟν♦οΩôΘ áσß 

 1. Ιúς ↑ΘΤô∴ Τôƒ↔ûΥ ¿ηΟ ΚôΩλ 
∆σßúΡôχÏΞν 

 2. Ïß€Υ ΚôΩ ∆σßúΡôχΚο 

 3. Τô°ΚÞχ€ûΟúΥ ΚôςΠ ↑ûΖûΞ úΜôƒχΚôÕ 

 4. Ï°κ♦γΟ ΒûΟúΞûΖΚ↓ο Τô°Κρ ΣΩØû[ 
∆σßúΡôχΚκΣÓλ 

 
 
 
 



5. Which of the following theory is known as ‘constructivist 
approach’. 

 1. Self-concept theory 
 2. Piaget’s Cognitive development  
 3. Kohlberg’s moral development theory 
 4. Thorndike’s Trial and error theory 
 •θχΚηΟΞσ°ο ∆ÚΞôχΚ ≅ÔÏØû[ Φτß 

≅ûΨχΚκΣÓλ úΚôγΣôÓ 

 1. ÑΥχΚÚιÕχ úΚôγΣôÓ 

 2. ♦Υôú⊥↑τ ≅°ÜΜôν ΞΖνε′ 

 3. úΚôοùΣνχ€τ ≅[ùΡ° ΞΖνε′χ úΚôγΣôÓ 

 4. ΘôςηûΟ€τ ØΥτß ΘΞ°χ Κσ[ο úΚôγΣôÓ 

 

6. One of the following does not belong to the tests regarding 
DAT (Differential Aptitude Test) 

 1. Concrete Reasoning 
 2. Abstract Reasoning 
 3. Verbal Reasoning 
 4. Spatial Relations 
 •θχΚηΟΞσ°ο+ úΞßΣγΟ Τ∴ΡôγΟε úΜôΘû∴  

 (DAT) ÙΟτ ùΘôΟν♦οΩôΘ Ιτß 

 1. ΣÚκùΣôÚρ ΣÏιΘ°Ü 

 2. ΚÚιƒΥο ΣÏιΘ°Ü 

 3. Ι←ι ùΘôΟνΣô∴ ΣÏιΘ°Ü 

 4. ΒΟι ùΘôΟν×Κρ 

 

 
 
 
 
 



7. One of the following aspects of aptitudes helps to guide the 
selection of courses for one’s future 

 1. Scholastic aptitude 
 2. Aesthetic aptitude 
 3. Differential aptitude 
 4. Vocational aptitude 
 •θχΚηΟ Τ∴ΡôγΟχ áßΚ↓ο Ιτß ΦƒνΚôΩιƒο 

ΙÚ ΡΣν úΘνϕùΘÓχΚχ á⁄Υ Σ♠σ′ΚÞχÏ 
ùΘôΟνΣô∴ Ξ→ΚôγÓΘο ùΜµΞΘσÏ ÕûΠ×↔€[Õ 

 1. Κο↑ ùΘôΟνΣô∴ Τ∴ΡôγΟλ 

 2. ≅ΨÏΠν Τ∴ΡôγΟλ 

 3. úΞßΣγΟ Τ∴ΡôγΟλ 

 4. ùΘô→ο ùΘôΟνΣô∴ Τ∴ΡôγΟλ 

 

8. Chaplin’s dictionary of psychology defined Adjustment as 
 “The _______ in the activities of an individual in over coming 

obstacles and fulfilling needs” 
 1. Intelligence 
 2. Variations 
 3. Learning 
 4. Conflicts 
 Μôκ↓±τ ∆Ζ↑Υο ≅Κςôƒ+ »» ΘûΟΚûΖ ΚγÓκ 

ΣÓιƒ úΘûΞΚûΖ ♣û[úΞσßΞΘσÏ Θ±ΡΣ↔τ 
ùΜΥσΣôÓΚ↓ο........ Η ΘΚΞûΤκ×µµ Φτß ↑ΖχÏ€[Õ 

 1. ÖηΠ°Ü 

 2. úΞσßûΤΚρ 

 3. Κσ[ο 

 4. úΣôςôγΟδΚρ 

 

 



9. Find the odd pair 
 1. L.L. Thurston – 7 types of mental abilities 
 2. Gardener – 8 types of intelligence 
 3. Spearman – three factor theory 
 4. Thorndike – multiple factor theory 
 •θχΚηΟΞσ°ο ùΣôÚϕΘôΘ ΒûΠ 

 1. Φο−Φο− ΘνυΟτ ` 7 ΞûΚΥô∴ Τ∴ιƒ[τΚρ 

 2. Κôν⁄∴ν ` 8 ΞûΚΥô∴ ÖηΠ°Ü 

 3. υ♦ΥνΤτ ` ØχΚôς∞χ úΚôγΣôÓ 

 4. ΘôςηûΟχ ` ΣΩΚôς∞χ úΚôγΣôÓ 

 
10. The defense mechanism where the person’s painful 

experiences are forgotten by sending them to the unconscious 
mind is known as 

 1. Displacement 
 2. Sublimation 
 3. Repression 
 4. Regression 
 Ξ←♥χΚ ≅àΣΞδΚûΖ Ρ∴↑← ♣ûΩχÏ 

≅àκ×Θο êΩλ Τ[ιΘο ΦτΣÕ ΒπΞûΚΥô∴ 
ΘσΚôκ× ΡΟιûΘûΥε úΜνϕΘÕ 

 1. ΒΟΤôσ[λ 

 2. ΤûΟΤôσ[λ 

 3. ΙÓχÏΘο 

 4. ♦τ∴ûΟÜ 

 
  



11. Find out the correct statement with regard to learning 
 1. Learning is a process, not the product 
 2. Learning means only product, not the process 
 3. Learning means temporary change 
 4. No relation between learning and maturity 
 Κσ[ο Σσ°Υ Μ↔Υô∴ áσß 

 1. Κσ[ο ΦτΣÕ ΙÚ ùΜΥοØû[+ ↑ûΖÜ ≅οΩ 

 2. Κσ[ο ΦτΣÕ ↑ûΖÜ ΤγÓúΤ+ ùΜΥοØû[ 
≅οΩ 

 3. Κσ[ο ΦτΣÕ ΘσΚô←Κ Τôσ[λ 

 4. Κσ[ÛχÏλ Øƒν♣ûΩχÏλ ùΘôΟν× ΒοûΩ 

 

12. A student to choose either Maths or Biology as his course of 
study where he is interested in photography. This comes under 
the following type of conflict 

 1. Approach - Approach 
 2. Approach - Avoidance 
 3. Avoidance - Avoidance 
 4. Double approach - Avoidance 
 ×ûΚκΣΟιÕû[ ÁÕ ↑ÚκΣØρΖ ΤôΠΞτ 

ΚγΟôΥΤôΚ ↑ÚκΣλ ΒοΩôΘ Κ∞Θλ ≅οΩÕ 
∆♠↔Υ←ο ΓúΘô Ιτ°û∴ι úΘνϕùΘÓχΚ 
úΞη⁄♠ÚϕΘÕ− ΒÕ •θχΚηΟ ΞûΚÙΟτ ≅οΩÕ 
úΣôςôγΟιƒτ •θΞÚλ 

 1. ≅ÔÏΘο , ≅ÔÏΘο 

 2. ≅ÔÏΘο , ↑ΩÏΘο 

 3. ↑ΩÏΘο , ↑ΩÏΘο 

 4. ΒςγûΟ ≅ÔÏΘο , ↑ΩÏΘο 

 

 



13. The individual factor that influences learning 
 1. Aptitude 
 2. Home environment 
 3. Curriculum 
 4. Difficulty level of the item of  learning 
 Κσ[←τ ÁÕ ΘôχΚιûΘ ΓσΣÓιÕλ Θ±κΣγΟ 

Κôς∞ 

 1. Τ∴ ΡôγΟλ 

 2. ÅγÓε ÑσßεãΨο 

 3. ΚûΩιƒγΟλ 

 4. Κσ[ο á°τ Κ⁄∴ ♣ûΩ 

 

14. Which one of the following belongs to affective domain 
 1. Imitation 
 2. Manipulation 
 3. Analysis 
 4. Valuing  
 •θΚηΟΞσ°ο ∆ΠνÜΜôν ΚΖιûΘε úΜνϕΘÕ ΦÕ> 

 1. úΣôΩε ùΜµΘο 

 2. ûΚΥôÞΘο 

 3. ΣÏιΘôµÜ 

 4. Τƒκ♦ÓΘο 

 

  



15. According to Maslow’s ‘theory of hierarchy of needs’, the 
highest level of need 

 1. Physiological need 
 2. Recognition need 
 3. Safety need 
 4. Self-actualization 
 ΤôυúΩô↑τ »»úΘûΞΚ↓τ Σ⁄ΥûΤκ×χ úΚôγΣôÓµµ  

 Σ⁄+ ∆ΥνΤγΟι úΘûΞ 

 1. ∆Οσáσßι úΘûΞ 

 2. ≅δ•Κôςι úΘûΞ 

 3. ΣôÕΚôκ×ι úΘûΞ 

 4. Θτ∆ΠνΘο úΘûΞ 

 

16. The first stage of concept formation 
 1. Comparison with past experiences 
 2. Identification of common characteristics in past 

experiences 
 3. Acquiring sensations through sense organs 
 4. Expressing common characteristic in the form of 

symbols 
 ΣôΟχΚÚιÕ ∆ÚΞôχΚιƒτ ØΘο Σ⁄♣ûΩ+ 

 1. ΚΟϕΘ ≅àΣΞδΚÞΟτ Ικ♦ÓΘο 

 2. ΚΟϕΘ ≅àΣΞδΚ↓τ ùΣôÕΞô∴ Ση×ΚûΖ 
≅°Θο 

 3. ×Ωàßκ×Κ↓τ Ξ→ΥôΚ ∆ΠνÜΚûΖκ 
ùΣßΘο 

 4. ΜôΘôςΠ Ση×ΚûΖ Ï°ÂÓ Ξ⁄↑ο 
ùΞ↓κΣÓιΘΘο 

 
 



17. The following is not the characteristic of “Perception”  
 1. Perception depends on Sensations 
 2. Perception involves meticulous observation 
 3. Perception can be directly ascertained 
 4. Perception involves attention and thinking  
 •θχΚηΟΞσ°ο »×Ωτ ∆ΠνÜµ Ση× ≅οΩôΘÕ 

 1. ×Ωτ ∆ΠνÜ+ ∆ΠνÜΚ↓τ ÁÕ 
ΑΘôςκΣγÓρΖÕ 

 2. ×Ωτ ∆Πν↑ο áνϕΘ ∆σßúΡôχΚο 
ΒÚχÏλ 

 3. »×Ωτ ∆Πν↑û∴µ úΡς⁄ΥôΚ ∆ßƒ 
ùΜµΥΩôλ 

 4. »×Ωτ ∆Πν↑οµΚΞ∴Øλ ′ϕΘû∴Ùλ 
ΧÓΣγ⁄ÚχÏλ 

 

18. ‘Tachistoscope’ instrument is used for the assessment of 
 1. Personality 
 2. Attitude 
 3. Span of attention 
 4. Intelligence 
 »Οô′υúΟôυúΚôκµ ΚÚ↑ ΒûΘ Τƒκ♦ÓΞƒο 

ΣΥτΣÓιΘκΣÓ€[Õ 

 1. ΑÞûΤ 

 2. Τ∴κΣôτûΤ 

 3. ΚΞ∴ ÅεÑ 

 4. ÖηΠ°Ü 

 

  



19. The type of transfer of learning occurs when a ball badminton 
player starts learning shuttle badminton 

 1. Positive 
 2. Negative 
 3. Zero 
 4. Bilateral 
 Σôο úΣγ♥ηΟτ ΚσßχùΚôηΟ ΡΣν _γ⁄ο 

úΣγ♥ηΟτ ΚσÏλúΣôÕ ΚôΠκΣÓλ Κσ[ο Τôσ[ 
ΞûΚ  

 1. úΡνØΚ 

 2. Τû[ØΚ 

 3. éϖ≥Υ 

 4. ΒÚΣχΚ 

 

20. Identify the wrong pair 
 1. Instructional theory - Bruner 
 2. Classical conditioning - Skinner 
 3. Insightful learning - Kohler 
 4. Cognitive development - Piaget 
 ΘΞ[ô∴ ΒûΠûΥχ ΚηΟ°ΥÜλ 

 1. Σ♠σ′χ úΚôγΣôÓ ` ×ì∴ν 

 2. ΣηûΟΥ ΑχΚ♣ûΩ♠ßιΘλ ` υ€τ∴ν 

 3. ≅ΚχΚôγ′ êΩλ Κσ[ο ` úΚôξΩν 

 4. ≅°ÜΜôν ΞΖνε′ ` ♦Υôú⊥ 

 
  



21. The term ‘group dynamics’ was introduced by 
 1. Koffka 
 2. Bandura 
 3. Kurt Lewin 
 4. Carl Rogers 
 »ÏÝ ΒΥχΚ↑Υοµ Φτàλ ùΜôοûΩ ≅°ØΚκ 

ΣÓιƒΥΞν 

 1. úΚô?κΚô 

 2. Σôηåςô 

 3. Κνγ ùΩ↑τ 

 4. Κôνο úςô⊥νυ 

 
22. Curriculum refers to 
 1. Curricular  
 2. Curricular + co curricular 
 3. Co curricular + Extra curricular 
 4. Curricular + Co curricular + Extra curricular  
 »ΚûΩιƒγΟλµ  ΦτΣÕ 

 1. ΣôΟλ ùΘôΟνΣô∴Õ 

 2. ΣôΟλ G ÕûΠκΣôΟλ ùΘôΟνΣô∴Õ 

 3. ÕûΠκΣôΟλ G ΣôΟλ ùΘôΟνΣσ[Õ 

 4. ΣôΟλ G ÕûΠκΣôΟλ G ΣôΟλ ùΘôΟν♦οΩôΘÕ 

 
  



23. Etiquette to be followed while using internet 
 1. Netiquettes 
 2. Online formalities 
 3. Online Regulations 
 4. Net formalities 
 ΒûΠΥ ΘΖιûΘκ ΣΥτΣÓιÕλ úΣôÕ ♦τΣσ[ 

úΞη⁄Υ ΣηΣôÓ ↑ΞΚôςδΚρ 

 1. ùΡ°Øû[Κρ 

 2. ΒûΠΥΞ→ Μλ♦ςΘôΥδΚρ 

 3. ΒûΠΥΞ→ ΙÝδÏØû[Κρ 

 4. ΞûΩΥûΤκ× Μλ♦ςΘôΥδΚρ 

  
24. Total Chapters, and parts in NEP - 2020 
 NEP ` 2020 ο ∆ρΖ ùΤôιΘ ≅ιƒΥôΥδΚρ Τσßλ 

ΣôΚδΚ↓τ Φη∞χûΚ 

 1. 5, 20 

 2. 8, 25 

 3. 27, 4 

 4. 15, 5 

 
25. Expand ‘DIKSHA’ 
 ‘DIKSHA’ τ ↑↔ΞôχΚλ 

 1. Digital Infrastructure for Experience Sharing 
 2. Digital Infrastructure for Knowledge Sharing  
 3. Digital Intelligence for Experience Sharing 
 4. Digital Intelligence for Knowledge Sharing 
  

 

 



26. The main objective of National Mission of F.L.N 
 1. to enhance Vocational skills 
 2. for reading & writing 
 3. for Adult Education 
 4. for primary literacy and numeracy skills  
 F.L.N - Φτàλ úΘ′Υ ƒγΟιƒτ Øχ€Υ úΡôχΚλ 

 1. ùΘô→ο ƒ[τΚûΖ ∆ΥνιÕΘο 

 2. Σ⁄ιΘο+ ΦÝΘÛχΚôΚ 

 3. ØƒúΥôν Κο↑χΚôΚ 

 4. ùΘôΟχΚ ΦÝιΘ°Ü Τσßλ ΦηΠ°Üι 
ƒ[τΚÞχΚôΚ 

 
27. The maximum storage capacity of ‘CD’ 
 ‘CD’ ♠τ ≅ƒΚΣγΜ úΜ♥κ×ι ƒ[τ 

 1. 1 GB 
 2. 700 MB 
 3. 10 GB 
 4. 1 TB 
  
28. ‘LED’ stands for 
 ‘LED’ ΦτΣΘτ ↑↔Ü 

 1. Light Emitting Diode 
 2. Light Emitting Display 
 3. Light Explore Display 
 4. Light Explore Digital 
  

  
 

 



29. Minimum Attendance for ‘Amma Vodi’ scheme eligibility 
 »≅λΤ Ι⁄µ ∋Θô♠τ Τ⁄( ƒγΟιƒσÏ ΘÏƒùΣ[ 

ΒÚχΚúΞη⁄Υ ΞÚûΚ ΜΘÅΘλ 

 1. 70% 
 2. 75% 
 3. 80% 
 4. 60% 

 

30. Author of the book “Civilization and Progress”   
 1. Gandhiji 
 2. Radha Krishnan 
 3. Ambedkar 
 4. Tagore 
 »»ΡôΚÃΚØλ ΞΖνε′Ùλµµ Φτàλ è←τ Α′↔Υν 

 1. ΚôϕƒΥ⁄Κρ 

 2. ΒςôΘô€ÚωΠτ 

 3. ≅λúΣιΚν 

 4. Θôáν 

 
 
 
 
 
 
 
 
 
 
 



  

31. »≅Μƒµ  Φτàλ ùΜôο←τ ùΣôÚρ 

 1. ΞΖνε′ 

 2. ∆ΩΚλ 

 3. úΜôνÜ 

 4. ùΜôιÕ 

 

 

32.  »Αßµ Φτàλ ùΜôο←τ ΒÚùΣôÚρ 

 1. ÅÓ+ ùΘôûΚ 

 2. Σ⁄+ Φη 

 3. Ρƒ+ Φη 

 4. ΒÚκ♦Ολ+ Σ⁄ 

 

 

33. »Κ↑Νô♠ßµ Φτàλ ≅ûΟùΤô→ ùΣσ[Ξν 

 1. ÑιΘô∴ϕΘ Σôςƒ 

 2. ΘôςôΣôςƒ 

 3. ÑςΘô 

 4. ΣôςƒΘôΜτ 

 

 

 

 

 

 



34. »úΘ′Υλ ΚôιΘ ùΜλΤοµ Φ∴κ ΣÑλùΣôτ 
ØιÕςôΤ←δΚι úΘΞûς Σôςôγ⁄ΥΞν 

 1. Βςô⊥ô≥  

 2. úΡΘô≥ 

 3. ƒÚ−↑−Κ  

 4. ƒΩΚν 

 

35. »ÏΨϕûΘ ùΞ↓úΥ úΣôµ↑γΟÕµ ΦτΣÕ ΒπΞûΚ 
ΞΨχÏ 

 1. ΤδΚΩλ 

 2. Ïï∆χÏ° 

 3. ΒΟχΚςΟχΚο 

 4. Τì∆ 

 

36. Α′↔Υ↔Ολ+ »ΒϕΘ Κ↑ûΘ♠τ ùΣôÚρ ΥôÕ>µ Φτß 
ΤôΠΞν úΚγΟο ΒπΞûΚ ↑∴ô  

 1. ΓΞο ↑∴ô 

 2. ≅°Υô ↑∴ô 

 3. ≅°↑∴ô 

 4. ΗΥ↑∴ô 

 

37. »Ξôù∴ô← úΚγÓ Τ€θϕΘ∴νµ , ΒπΞûΚ ΑÏùΣΥν 

 1. ΚÚιΘôΞôÏ ùΣΥν 

 2. ΚÚ↑ΥôÏ ùΣΥν 

 3. ΣηΣôÏ ùΣΥν 

 4. Κô↔ΥΞôÏ ùΣΥν 



38. ùΣôÚϕΘôΘ Ïσ°ΥÛΚςιûΘχ ΚηÓ♦⁄− 

 1. ΣôχÏ 

 2. ΣôγÓ 

 3. êθÏ 

 4. Σσß 

 

39. úΘ⁄κ ΣôνιΘôτ , ΦπΞûΚι ùΘôΟν 

 1. ΦÝΞôµι ùΘôΟν 

 2. ↑û∴ùΥεΜι ùΘôΟν 

 3. ↑û∴Øσßι ùΘôΟν 

 4. úΞσßûΤι ùΘôΚô♣ûΩι ùΘôΟν 

 
40. Ξο←∴λ ♥Κô ΒΟιûΘχ ΚηÓ♦⁄− 

 1. ΒςγûΟχ €Ζ↑ 

 2. ∆ΞûΤι ùΘôûΚ 

 3. ϑùςÝιÕ ΙÚ ùΤô→ 

 4. ΧßùΚγΟ ΦƒνΤû[κ ùΣΥùςεΜλ 

 
 
 
 
 
 
 
 
 
 
 



41. ùΣôÚιÕΚ− 

  èο     Α′↔Υν 

 0− ≅Ψ€τ ′↔κ×    , ≅− ûΞςØιÕ 

 1− Ργ×χΚôΩλ     , Α− ΤΩôΩô 

 2− ΚÚλΣΩûΚ ÙιΘλ  ,  Β− ≅°ÜΤƒ 

 3− Θη½ν úΘΜλ  ,  Χ− ΣôςƒΘôΜτ  

 1. 0 , Β+ 1 , Χ+ 2 , Α+ 3 , ≅ 

 2. 0 , Χ+  1 , ≅+ 2 , Α+ 3 , Β 

 3. 0 , Χ+ 1 , Β+ 2 , Α+ 3 , ≅ 

 4. 0 , Β+ 1 , ≅+ 2 , Χ+ 3 , Α 

 

 

42. ∆ßƒΥôΚ ΚôοΣƒιÕ 

 ∆δΚρ Ï°χúΚôûΖ úΡôχ€ ΡΟχûΚ♠ο 

 ¿δΚρ ΡοΩΞν , Φτß á°ΥΞν 

 1. ≅κÕο ΚΩôλ 

 2. ΚÄο €κςôτ 

 3. ΘôςôΣôςƒ 

 4. úΤιΘô 

 

 

43. ÖγΣΤôΚ ′ϕƒιÕ ≅°ΞÕ 

 1. èΩ°Ü 

 2. ÖηΠ°Ü 

 3. ΣγΟ°Ü 

 4. ′σ[°Ü 



44. ↑οΞôρ , ΒεùΜôοÛχÏ↔Υ ΒΩχΚΠ Ï°κ× 

 1. ΦηÔλûΤ 

 2. ∆↔εùΜôο 

 3. ØσßλûΤ 

 4. ∆λûΤιùΘôûΚ 

 

45. ΣÏΣΘ ΒΩχΚΠιƒο ΣÏƒ+ Μϕƒ+ ΒûΟ♣ûΩ 
ØΘ←ΥΞσ°ο ΓσΣÓλ Τôσ[λ −−−−−−−−−−−−−− Φ∴κΣÓλ− 

 1. Μϕƒ 

 2. ↑Κôςλ 

 3. Μô↔ûΥ 

 4. ↑Ïƒ 

 

46. »≅[λΡôΠιµ , ΒεùΜôοûΩ ≅Ω€Ó− 

 1. úΡν+ ♣ûς+ ♣ûς 

 2. úΡν+ úΡν+ úΡν 

 3.      ♣ûς+ úΡν+ úΡν 

 4. úΡν+ ♣ûς+ úΡν 

 

 

 

 

 

 

 



47. •θχΚηΟΞσû[ ΚΞ±− 
 A. ΞΥÛλ ΞΥο ΜôνϕΘ ΒΟØλ ΤÚΘλ− 
 B. ΤÚΘλ Αß ùΣÚλ ùΣôÝÕΚρ ùΚôηΟÕ− 
 ΒΞσßρ ΦÕ Μ↔ Φ∴ ¾νΤô±χΚÜλ− 

 1. A Μ↔+ B ΘΞß 

 2. A Μ↔+ B Μ↔ 

 3. A ΘΞß+ B ΘΞß 

 4. A ΘΞß+ B Μ↔ 
 

48. »úΣôÚΨϕ ùΘÓιΘ Αùς♠ο ùΡÓδúΚô⁄ 

 Ξôςο ΦτΣ∴úΣôο Τ°ιÕχûΚ ΚôγΟµ 

, ΒεùΜµÙ↓ο Σ♠τß ΞϕÕρΖ ≅∞  

 1. ΘσÏ°κúΣσ[ ≅∞ 

 2. ¾ΞΚ ≅∞ 

 3. ΘτûΤ ≅∞ 

 4. ♣ςο♣û[ ≅∞ 

 

49. ƒÚΞρÞΞν ƒÚχÏ[ûΖ ΒΥσ°∴ôν− , ùΜµ↑û∴ι 
ùΘôΟûς ùΜΥκΣôγÓ ↑û∴ι ùΘôΟςôΚ ΤôσßΚ− 

 1. ƒÚΞρÞΞςôο ƒÚχÏ[ρ ΒΥσ[κΣγΟÕ 

 2. ƒÚχÏ[ρ ƒÚΞρÞΞςôο ΒΥσ[κΣγΟÕ 

 3. ƒÚΞρÞΞν ƒÚχÏ[ρ ΒΥσ°∴ôν 

 4. ƒÚχÏ[ûΖ ƒÚΞρÞΞν ΒΥσ°∴ôν 

 

50. »ΣôδΚ°ϕÕµ , ΒΩχΚΠχ Ï°κ× ΦÝÕΚ 

 1. ΒςηΟôλ úΞσßûΤι ùΘôûΚ 

 2. êτ[ôλ úΞσßûΤι ùΘôûΚ 

 3. ΡôτΚôλ úΞσßûΤ ùΘôûΚ 

 4. ΗϕΘôλ úΞσßûΤ ùΘôûΚ 



51. •θχΚôÔλ ùΜµÙûΖκ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

 ƒδΚρ ♦[κ♦àχúΚ , ΒÚρ 

 úΘΜδΚρ ΞôθιÕûςχÏλ 

 ΚδÏο ♦[κ♦àχúΚô , ΒΖδ 

 ΚôΘΩν ΞôθιÕûςκΣν! 

 ƒδΚρ ΦτΣΘτ ùΣôÚρ 

 1. ã↔Υτ 

 2. ΡγΜιƒςλ 

 3. ♣ΩÜ 

 4. ΤûΨ 

  

 

52. •θχΚôÔλ ùΜµÙûΖκ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

 ƒδΚρ ♦[κ♦àχúΚ , ΒÚρ 

 úΘΜδΚρ ΞôθιÕûςχÏλ 

 ΚδÏο ♦[κ♦àχúΚô , ΒΖδ 

 ΚôΘΩν ΞôθιÕûςκΣν! 

 ΚôΘΩν ΦκùΣôÝÕ ΞôθιÕ áßΞν> 

 1. ΣΚο 

 2. ΡηΣΚο 

 3. ΒςÜ 

 4. ΦσΣôÓ 

 

 
 
 
 
 



53. •θχΚôÔλ ∆ûςΡûΟûΥκ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

 ƒÚ−ùΣ−ÑϕΘςλ ♦ρûΖ 0744 Αλ ΑηÓ 
ΑΩκ×ûΨ♠ο ♦[ϕΘΞν− ΒΞν Τú∴ôτΤ½Υλ 
Φτ[  Θôλ  ΒΥσ°Υ  èΩôο  ♣û∴Ü  áςκΣÓ€[ôν−  
ƒÚØÚΚôσßκΣûΟ+ ùΡÓΡοΞôûΟ+ ΤÕûςχ Κôφ′ 
ØΘ←Υ ΜδΚ èοΚûΖ Αδ€Ωιƒο ùΤô→ 
ùΣΥνιΘôν− 

 ƒÚ−ùΣ−ÑϕΘςλ ♦ρûΖ ΒΥσ°Υ èο ΥôÕ> 
 1. Τú∴ôτΤ½Υλ 

 2. ùΡοΡοΞôûΟ 

 3. ƒÚØÚΚôσßκΣûΟ 

 4. ΤÕûςχΚôφ′ 

 
54. •θχΚôÔλ ∆ûςΡûΟûΥκ Σ⁄ιÕ+ ↑∴ô↑σÏ ↑ûΟΥ↓− 

 ƒÚ−ùΣ−ÑϕΘςλ ♦ρûΖ 0744 Αλ ΑηÓ 
ΑΩκ×ûΨ♠ο ♦[ϕΘΞν− ΒΞν Τú∴ôτΤ½Υλ 
Φτ[  Θôλ  ΒΥσ°Υ  èΩôο  ♣û∴Ü  áςκΣÓ€[ôν−  
ƒÚØÚΚôσßκΣûΟ+ ùΡÓΡοΞôûΟ+ ΤÕûςχ Κôφ′ 
ØΘ←Υ ΜδΚ èοΚûΖ Αδ€Ωιƒο ùΤô→ 
ùΣΥνιΘôν− 

 ΜδΚ èοΚûΖ ΒλùΤô→♠ο ùΤô→ ùΣΥνιΘôν 

 1. ΞΟùΤô→ 

 2. Κτ∴Ολ 

 3. Αδ€Ωλ 

4.      ùΘÛδÏ 

  

 

 

 

 



55. úΤƒ± , ùΜôο ùΣôÚρ 

 1. Νô♠ß 

 2. ∆ΩΚλ 

 3. ΚƒςΞτ 

 4. ƒδΚρ 

 
56. úΜνιÕ ΦÝÕΚ 9 Θ♥θ ∗ ΦδΚρ 

 1. Θ♥úΨδΚρ 

 2. Θ♥θΦδΚρ 

 3. Θ♥ùΨδΚρ 

 4. Θ♥→δΚρ 

 

57. ♦↔ιÕ ΦÝÕΚ 9 ùΜλΣ♠ν 

 1. ùΜλûΤ ∗ Σ♠ν 

 2. ùΜ ∗ Σ♠ν 

 3. ùΜλ ∗ Σ♠ν 

 4. ùΜλ♦ ∗ Σ♠ν 

 
 

58. ΦƒνεùΜôο 9 ≅ςΜτ x   
 1. ≅ς′ 

 2. úΞϕΘτ 

 3. úΚô 

 4. ΤΚςô′ 

 
 



59. Ξο←∴ ΦÝιÕΚρ 

 1. Λ+ Ν+ Π+ Ρ+ Τ+ ∴ 

 2. Κ+ Μ+ Ο+ Θ+ Σ+ [ 

 3. Υ+ ς+ Ω+ Ξ+ Ψ+ Ζ 

 4. Κ+ Λ+ Μ+ Ν+ Ο+ Π 

 

60. Μ↔Υô∴ ≅ΚςΞ↔ûΜûΥ Κôη 

 1. ùΜΩÜ+ úΜγûΟ+ ΜϕÕ+ úΜôûΩ 

 2. ΤδûΚ+ Áτ+ úΤ↔+ ûΤ∴ô 

 3. ùΘôηÓ+ úΘτ+ ΘΞûΖ+ ÕûΠ  

 4. ÏλΣο+ Κη+ ùΚôûΟ+ úΚôûΟ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



61. How would you refuse your neighbour’s request for 
permission to use your new mobile phone? 

 Choose your response from the following. 
 1. Sorry, it is not possible. I want to present it to my 

friend. 
 2. You are not a good man. So, I don’t give it to you. 
 3. Thank you very much! 
 4. It doesn’t matter. 
 

62. Choose the sentence that can be used to give a suggestion. 
 1. I’d love to. 
 2. Oh, that’s a good idea! 
 3. Hearty congratulations! 
 4. We’d better go to a movie. 
 

63. Choose the option that should be included at the top right hand 
side of a formal letter. 

 1. recipient’s address 
 2. sender’s address 
 3. date 
 4. salutation 
 

64. The primary purpose of a biographical sketch is: 
 1. to entertain the reader with anecdotes 
 2. to capture the essence of someone’s life in a concise 

manner. 
 3. to provide a detailed account of a person’s entire life 

without facts. 
 4. to analyze the psychological motivations of the subject. 
 
 
 
 



65. Choose the correctly punctuated sentence. 
 1. What’s come over you, master? he asked. 
 2. “What’s come over you, master,” he asked. 
 3. What’s come over you master? he asked 
 4. “What’s come over you, master?” he asked. 
 

66. Trains do not / run / very fastly / on this track. 
  A     B        C         D 
 Choose the part that has a grammatical error. 
 1. A 
 2. B 
 3. C 
 4. D 
 

67. Choose the suffix that suits to get the adjectival form of the 
word ‘beauty’ 

 1. ful 
 2. full 
 3. fully 
 4. ness 

 

68. The word ‘deplorable’ has stress on: 
 1. The first and the third syllables 
 2. the second syllable 
 3. the third syllable 
 4. the first syllable 

 
  



69. Choose the meaning of the idiom ‘at a loss’. 
 1. to do it intentionally 
 2. not knowing what to do. 
 3. to make someone angry. 
 4. to take advantage. 
 

70. Why don’t you _______ your ideas on paper? 
 Choose the option that fits the blank. 
 1. set up 
 2. set in 
 3. set out 
 4. set down 

 

71. Choose the mis – spelt word out of the given options 
 1. tingles 
 2. vibration 
 3. resonences 
 4. intriguing 

 

72. Choose the option that can be used as a one – word substitute 
for “one who spends too much”. 

 1. spendthrift 
 2. theist 
 3. linguist 
 4. mercenary 

 
 

 
 

 
 



73. You really gave me a fright when you crept up behind me like 
that. 

 Choose the synonym of the word ‘fright’ 
 1. comfort 
 2. soothe 
 3. startle 
 4. solace 

 

74. Siva Subramania Iyer was not perturbed, nor did he get angry 
with his wife. 

 Choose the right pair of opposite words of the word 
‘perturbed’. 

 1. disturbed - worried 
 2. rattled - pacified 
 3. tranquilized - soothed 
 4. discomposed - confused 
 

75. Choose the sentence with the correct use of articles 
 1. Children play the cricket. 
 2. The children play cricket. 
 3. Children play cricket. 
 4. The children the play the cricket. 
 

76. She had always been bad ______ languages. 
 Choose the preposition that fits the blank. 
 1. over 
 2. at 
 3. with 
 4. in 
 
 

 



77. Fire and water had damaged the desk before the author found 
it. 

 In the above sentence ‘had damaged’ describes: 
 1. near future 
 2. future 
 3. earlier past 
 4. unreal past 
 

78. Gathergold is arriving tomorrow. 
 The above sentence indicates: 
 1. past time 
 2. future time 
 3. present time 
 4. discontinued past. 
 

79. Someone asked, “Why has thief left the vest behind?” 
 Choose the reported speech of the sentence above. 
 1. Someone asked who had the thief left the vest behind. 
 2. Someone asked why the thief had left the vest behind. 
 3. Someone asked why has the thief left the vest behind? 
 4. Someone asked why if the thief had left the vest  

behind? 

 

80. Elections to the Lok Sabha _______ every five years. 
 Choose the option that completes the sentence meaningfully. 
 1. are held by 
 2. is hold by 
 3. were hold to 
 4. are held 

 
 

 



81. There ______ a lot of people in the park. 
 Choose the verb that fits the blank. 
 1. is 
 2. isn’t 
 3. was 
 4. were 

 

82. Identify the noun clause from the following. 
 1. I will not go until he arrives 
 2. Come when you like. 
 3. I know the girl who won the prize 
 4. I know you have great regard for me. 
 

83. Choose the interjection that shows ‘hesitation!’ 
 1. Ev! 
 2. Oh! 
 3. Ah! 
 4. Oho! 
 

84. Choose the word that is a noun from the following. 
 1. humble 
 2. blunt 
 3. impolite 
 4. datum 
 

 
 

 
 

 



85. His father was a high school teacher. He was an avid reader of 
English literature. 

 Identify the true statement about the sentences given below. 
 1. Both are complex Sentences 
 2. Both are in present tense 
 3. Bothe the sentences can be combined as a single 

sentence using ‘and’ 
 4. Both are not simple sentences. 
 

86. The tour guide was _____ informative that we did not need to 
read our guide book. 

 Choose the word that fits the blank. 
 1. neither 
 2. so 
 3. either 
 4. in spite of 
 

87. She was unable to attend the party _______ her marriage 
engagement. 

 Choose the correct phrasal preposition that fits the blank. 
 1. in addition to 
 2. due to 
 3. in case of 
 4. in place of 
 

88. May I use your mobile phone? 
 The above sentence indicates: 
 1. making a suggestion 
 2. expressing possibility 
 3. giving permission 
 4. taking permission 

 



89. Read the following passage. 
 Even researchers are finding that introverts make better leaders 

than extroverts for the simple reason that they are more likely 
to listen and pay attention to what other people are saying. By 
taking a backseat, introverted leaders encourage others to 
suggest ideas, contribute actively and take initiative, thus 
increasing morale and motivation. 

 As stated in the passage, introverted leaders contribute to 
increasing morale and motivation by: 

 1. dominating conversations and ideas     
 2. being outgoing and charismatic   
 3. encouraging others to suggest ideas and take initiative    
 4. socializing and networking effectively 
 
90. Read the following passage. 
 Even researchers are finding that introverts make better leaders 

than extroverts for the simple reason that they are more likely 
to listen and pay attention to what other people are saying. By 
taking a backseat introverted leaders encourage others to 
suggest ideas, contribute actively and take initiative, thus 
increase morale and motivation. 

 Introverts make better leaders because they are 
 1. interested 
 2. attentive 
 3. attention - seeking 
 4. alluring 

 
 
 
 
 
 
 
 



91. The smallest composite number is  
 ♥Κε′°Υ ΣÏ Φη 

 1. 4 
 2. 3 
 3. 2 
 4. 1 
  
92. Additive Identity  
 áγΟο ΜΤ± 

 1. -1 
 2. 0 
 3. 1 

 4. -a 
 

93. General form of a rational number  
 1. p/q, p and q are integers, q ¹  0 
 2. p/q , p and q are integers, q = 0 
 3. q/p, p and q are integers, q ¹  0 
 4. p/q, p and q are whole numbers, q = 0 
 ΙÚ ↑€ΘØß Φη∞τ ùΣôÕ Ξ⁄Ξλ 

 1. p/q, p Τσßλ q ΦτΣûΞ ØÝχΚρ, q¹  0 

 2. p/q , p Τσßλ q ΦτΣûΞ ØÝχΚρ, q = 0 

 3. q/p, p Τσßλ q ΦτΣûΞ ØÝχΚρ, q¹  0 

 4. p/q, p Τσßλ q ΦτΣûΞ ØÝχΚρ, q = 0 

 
 
 
 
 
 



94. Which of the following is a FALSE statement 
 •θχΚηΟΞσ°ο ùΤµΥσ[ áσß 

 1. logaxy = loga x+ loga y 
 2. (am)n = amn 

 3. m

n

n

m

a
a

a
a

=  

 4. logaxm = m.logax 
  

95. BAÌ then BAÇ =  
 BAÌ   Φ±ο BAÇ =  

 1. f  

 2. A 
 3. B 
 4. BAÈ  

  

96. The portion of a cake is not possible to eat 
 ΙÚ úΚχ€τ ΒκΣôΚιûΘ ƒτΣΘσÏ ΜôιƒΥ♥οûΩ 

 1. 30% 

 2. 50% 

 3. 100% 
 4. 120% 

  



97. Profit or Loss is calculated on 
 1. Cost price  
 2. Selling price  
 3. Discount 
 4. Marked price 
 ΒΩôΣλ ≅οΩÕ ΡωΟΤô∴Õ ΒΘτ ÁÕ  

 ΚΠχ€ΟκΣÓ€[Õ   

 1. Ξôδ€Υ ↑ûΩ 

 2. ↑σ[ ↑ûΩ 

 3. ΘρÞΣ⁄ 

 4. Ï°ιΘ ↑ûΩ  

  

98. An angle of  98° is known as ____ 
 1. Reflex angle  
 2. Right angle  
 3. Obtuse angle  
 4. Acute angle  
 98

0
 úΚôΠ ≅ΖûΞ ΒπΞôß ≅ûΨκΣν 

 1. ♦τΞûΖÜ úΚôΠλ 

 2. ùΜδúΚôΠλ 

 3. ↑↔úΚôΠλ 

 4. ÏßδúΚôΠλ 

  



99. The sum of exterior angles of a regular polygon 
 ΙÚ ΙÝδΚô∴ ΣΩúΚôΠιƒτ ùΞ↓χúΚôΠδΚ↓τ 

áÓΘο  

 1. 900 
 2. 1800 
 3. 3600 
 4. 4000

 

 

100. Number of independent measurements to construct a 
quadrilateral uniquely  

 ΙÚ ΡôσΚςιûΘ ΞûςΥ úΘûΞΥô∴ Θ±ιΘ 
≅ΖÅÓΚ↓τ Φη∞χûΚ  

 1. 5 
 2. 4 
 3. 3 
 4. 1 

 

101. The famous Pythagoras theorem is also known as  
 1. Thales Theorem  
 2. Euclids Theorem  
 3. Bhaskara Theorem 
 4. Baudhayan Theorem 
 ×ΚθùΣσ[ ♦ΘôΚςυ úΘσ[Τô∴Õ ΒκùΣΥ↔Ûλ  

 ≅ûΨχΚκΣÓ€[Õ 

 1. úΘου úΘσ[λ 

 2. ëχ↓γ úΘσ[λ 

 3. ΣôυΚςô úΘσ[λ 

 4. ùΣΖΘΥôτ úΘσ[λ 

 
 



102. ú
û

ù
ê
ë

é
´

å
å

+ h
fi
ufa ii is the formula for  

 1. Mode 
 2. Median 
 3. Mean 
 4. Range  

 ú
û

ù
ê
ë

é
´

å
å

+ h
fi
ufa ii ΦτΣÕ ΒΘσΚô∴ ãιƒςλ 

 1. ØΚÓ 

 2. ΒûΟ♣ûΩ 

 3. áγÓ ΜςôΜ↔ 

 4. ÅεÑ 

 
 
103. In general, this will be taken on X-axis when frequency 

polygon is drawn independently 
 1. Classes 
 2. Class mid values 
 3. Frequencies  
 4. Cumulative frequencies  
 ùΣôÕΞôΚ+ ♣ΚθùΞη ΣΩúΚôΠιûΘ ΞûςÙλ úΣôÕ  

 X ` ≅ε′τ ÁÕ ΒûΘ  ΦÓιÕχùΚôρúΞôλ− 

 1. ΞÏκ×Κρ 

 2. ΞÏκ× ûΤΥ Τƒκ×Κρ 

 3. ♣ΚθùΞηΚρ 

 4. Ï↑Ü ♣ΚθùΞηΚρ 

 

 

 



104.  =  - (l-m)(l+m) 22  

 1. 0 
 2. 2lm 
 3. l2+m2 
 4. 4lm 
 
 
105. Area of a Trapezium  
 1. 2 (l+b)  sq.units 
 2. lbh  sq.units 

 3. 
2
1 ab  sq.units 

 4. 
2
1 h (a+b)  sq.units 

 Μ↔ΞΚιƒτ ΣςκΣΖÜ 

 1. 2 (l+b) ΜÕς ≅ΩÏΚρ 

 2. lbh ΜÕς ≅ΩÏΚρ 

 3. 
2
1 ab ΜÕς ≅ΩÏΚρ 

 4. 
2
1 h (a+b) ΜÕς ≅ΩÏΚρ 

 
  



106. ( )2  rrl pp +   is the formula for  

 1. T.S.A of a sphere  
 2. Volume of a sphere  
 3. C.S.A. of a cone 
 4. T.S.A. of a cone 

  ( )2  rrl pp +  Φàλ ãιƒςλ ΒΘσΚô∴Õ 

 1. úΚôΖιƒτ ùΤôιΘΘΖ ΣςκΣΖÜ 

 2. úΚôΖιƒτ Κ∴ ≅ΖÜ 

 3. áλ♦τ ΞûΖΘΖ ΣςκΣΖÜ 

 4. áλ♦τ ùΤôιΘΘΖ ΣςκΣΖÜ 

 

107. In a sector r π2
3600

0

´
x

   
represents  

 1. Area 
 2. Circumference  
 3. Length of the arc 
 4. Diameter   

 ΙÚ ΞγΟúΚôΠ ΣÏƒ♠ο r π2
3600

0

´
x

 ΦτΣÕ ΒΘû∴  

 Ï°χ€[Õ 

  1. ΣςκΣΖÜ  

 2. Σ↔ƒ∋Ñσ[ΖÜ( 

 3. ↑ο←τ ¿Ζλ 

 4. ↑γΟλ  

 

  



108. The volume of the largest right circular cone that can be cut 
out of a cube whose edge is 7cm. 

 1. 89.83 cm 
 2. 100 cu.cm 
 3. 89.83 sq.cm 
 4. 89.83 cu.cm 
 7 ùΜ−Á ΣχΚ ≅ΖûΞχ ùΚôηΟ Κ∴εΜÕςιƒ←ÚϕÕ 

ùΞγ⁄ ΦÓχΚχá⁄Υ ♥ΚκùΣ↔Υ úΡνΞγΟ áλ♦τ 
Κ∴≅ΖÜ  

 1. 89.83  ùΜ−Á− 

 2. 100   Κ−ùΜ−Á− 

 3. 89.83  Μ−ùΜ−Á− 

 4. 89.83 Κ−ùΜ−Á− 

 
109. The perimeter of a regular pentagon is 100cm.  The length of  

its  each side is  
 1. 20cm 
 2. 15cm 
 3. 10cm 
 4. 5cm 
 ΙÚ ΙÝδΚô∴ ΗδúΚôΠιƒτ Ñσ[ΖÜ 100 ùΜ−Á− 

Φ±ο ≅Θτ ΙπùΞôÚ ΣχΚ ¿Ζλ  

 1. 20 ùΜ−Á− 

 2. 15 ùΜ−Á− 

 3. 10 ùΜ−Á− 

 4. 5 ùΜ−Á− 
  



110. A die is thrown once. The probability of getting a Prime 
Number  is  

 ΙÚ ΣΚûΟΥô∴Õ ΙÚØû[ ∆ÚγÓλúΣôÕ ΣΚô Φη 
€ûΟκΣΘσΚô∴ ♣ΚθΘΚÜ  

 1. 
6
2  

 2. 
2
1  

 3. 
2
3  

 4. 1  
 

111.  The point (0,-4) lies on  
 1. positive  X- axis 
 2. negative X- axis 
 3. positive Y- axis 
 4. negative Y- axis 
 ×ρ↓ (0, - 4) τ ΒΟλ 

 1. ♥ûΚ X – ≅εÑ 

 2. Ïû[  X – ≅εÑ 

 3. ♥ûΚ  Y – ≅εÑ 

 4. Ïû[ Y – ≅εÑ 

 

112. The slope of line joining (0,0) and ( 3 ,3)  

 (0,0)  Τσßλ   ( 3 ,3)  Α€Υ ×ρ↓ΚûΖ ΒûΠχÏλ  

 úΚôγ⁄τ ΜôµÜ 

 1. 3 

 2. 3  

 3. 
3
1  

 4. 
3

1  



113. Which of the following is NOT a trigonometric identity 

 •θχΚηΟΞσ°ο ƒ↔úΚôΠ♥ƒ Øσù[ôÚûΤ 
≅οΩôΘÕ  

 1. 1θCosθSin 22 =+  

 2. 022 90θ0for  1θtanθSec ££=-  

 3. 1θSθsecC 22 =- eco  

 4. 022 90θ0for  θCosecθCot1 ££=+  
 
114. Sec A (1-SinA) (SecA + tanA) =  
 1. 1 
 2. 0 

 3. 
CosA

1  

 4. tan A 
 
115. The author of “ Siddanta Siromoni” book which consists of 

4 parts like the popular “Leelavati Ganitham”   
 1. Srinivasa Ramanujan 
 2. Brahma Guptha 
 3. Aryabhatta 
 4. Bhaskaracharya II 
 

×ΚθùΣσ[ »ÄΩôΞƒ Κ∞Θλµ úΣôτ[ ΡôτÏ  

 ΣôΚδΚûΖ ùΚôηΟ »»′ιΘôϕΘ′úςôτΤ∞µµ ×ιΘΚιûΘ 
ΦÝƒΥΞν 

 1. ≠±ΞôΜ ΒςôΤôà⊥τ 

 2. ♦ςλΤ ÏκΘô 

 3. ΑνΥΣγΟô 

 4. ΣôυΚςôεΜôνΥô  II 

 



116.  As Leibnitz stated ‘Music is modern internal practice of 
arithmetic without knowing that behaving with numbers’ this 
is 

 1. Utilitarian value 
 2. Moral Value  
 3. Aesthetic Value  
 4. Disciplinary Value  

 
Äκ±γϖ áσßκΣ⁄+ ‘ΦηΚÞΟτ Ρôλ ΡΟϕÕχ 
ùΚôρΞÕ ùΘ↔ΥôΤο ΡΟχÏλ ΦηΚ∞Θιƒτ ΡÅ∴ 
≅ΚκΣ♠σ′úΥ ΒûΜ ΑÏλ’− ΒÕ 

 1. ΣΥτΣôγÓ Τƒκ× 

 2. ≅[ùΡ° Τƒκ× 

 3. ≅ΨÏΠν Τƒκ× 

 4. ΙÝχΚ Τƒκ×  

 

117. Deductive method from Generalisation to specific is 
introduced by  

 1. Comenius  
 2. Armstrong  
 3. John Dewey  
 4. David Horsburg 
 ùΣôÕΞô∴Ξσ°←ÚϕÕ Ï°κ♦γΟΞσ°σÏ 

  »ùΘôÏιΘ°Θο Øû[µ ûΥ ≅°ØΚκΣÓιƒΥΞν 

  1. Κô♥±Υυ 

 2. Ανλυγςôδ 

 3. ⊥ôτ å♠ 

 4. úΟ↑γ úôνυùΣνχ 

 

 

 



118. Generally, the percentage of learning by ‘writing while seeing’ 
in ‘Multi Sensor Approach’ is 

 »Σο ×Ωàßκ× ≅ÔÏØû[µ ♠ο »ΣôνιÕχùΚôηúΟ  

 ΦÝÕÕοµ êΩλ ΜôΘςΠΤôΚ ΚσÏλ ΜΘÅΘλ 

  1. 30% 

 2. 50% 
 3. 70% 
 4. 90% 
 
 
119. The proposal to start mathematics clubs in the schools was  
 initiated by 
 1. 1835 Macauley’s minutes  
 2. 1952 Secondary Education Commission 
 3. 1986 National Policy on Education 
 4. 1946 University Education Commission 
 Σρ↓Κ↓ο Κ∞Θχ ΚΨΚιûΘ ùΘôΟδΚúΞηÓλ  

 Φτß ØΘτ ØΘ←ο á°ΥÕ  

  1. 1835 ùΤχΚúΩ Κο↑ Øû[ 

 2. 1952 ΒûΟ♣ûΩ Κο↑χ ÏÝ 

 3. 1986 úΘ′Υ Κο↑χ ùΚôρûΚ 

 4. 1946 ΣοΚûΩΚΨΚ Κο↑χ ÏÝ 

 

  



120. X class Public Examinations belongs to the following type 
 1. Formative Evaluation  
 2. Summative Evaluation 
 3. Diagnostic Evaluation   
 4. Progresstic Evaluation 
 ΣιΘôλ ΞÏκ× ùΣôÕι úΘνÜΚρ ΒϕΘ ΞûΚûΥ  
 úΜνϕΘûΞ  
 1. ∆ÚΞôχΚ ΤƒκÀÓ 
 2. ùΘôÏκ× ΤƒκÀÓ 
 3. Ïû[Υ° ΤƒκÀÓ 
 4. Øτú∴σ[ ΤƒκÀÓ 

 
 

 

121. The motion of a ball along the ground is 
 1. Rotational motion 
 2. Rectilinear motion 
 3. Rectilinear and Rotational motion 
 4. Periodic motion 
  Θûς♠ο Σϕƒτ ΒΥχΚλ 

 1. ÑΨο ΒΥχΚλ 

 2. úΡνúΚôγÓ ΒΥχΚλ 

 3. úΡνúΚôγÓ Τσßλ ÑΨο ΒΥχΚλ 

 4. ΚôΩ ΙÝδÏ ΒΥχΚλ 

 
 
 
 
 
 
 
 
 
 
 



122. A block of wood is kept on a table top. The mass of wooden 
block is 5 kg and its dimensions are 40 cm ´  20 cm ´ 10 cm. 
Find the pressure exerted by the wooden block on the table top 
with its sides of dimensions 20 cm ´ 10 cm. (g = 9.8 m/s2) 

 ΙÚ ΤςιÕηÓ+ úΤûΜ♠τ ÁÕ ûΞχΚκΣÓ€τ[Õ− 
≅λΤςιÕη⁄τ ♣û[ 5 €−€− Τσßλ ≅Θτ ≅ΖÜΚρ 

40 ùΜ−Á− ´ 20 ùΜ−Á− ´ 10  ùΜ−Á− Φ±ο 20 ùΜ−Á− ´ 10  
ùΜ−Á− 
≅ΖÜΚÞûΟΥ ΤςιÕηÓ úΤûΜ♠τ ÁÕ 
≅ûΤϕƒÚχÏλ úΣôÕ+ úΤûΜ♠τ ÁÕ 
≅λΤςιÕη⁄∴ôο ùΜΥοΣÓιΘκΣÓλ ↑ûΜûΥχ 
ΚΠχ€ÓΚ− (g = 9.8 m/s2) 

 1.   2612.5Nm-  

 2. 2612.5Nm  

 3. 22450Nm  

 4. 22450Nm-  
 

 

123. Sound can travel through 

 1. vacuum 
 2. solids, liquids and gases 
 3. only solids and liquids 
 4. only vacuum and gases 
 Ι← ΒΘτ êΩλ ΣΥ∞χΚ Ø⁄Ùλ  

 1. ùΞσ°Ολ 

 2. ƒΟ+ ƒςΞ Τσßλ ΞôÙχΚρ 

 3. ƒΟ Τσßλ ƒςΞδΚ↓ο ΤγÓλ 

 4. ùΞσ°Ολ Τσßλ ΞôÙχΚ↓ο ΤγÓλ 

 
  



124. Select the correct match of following groups (X) and (Y) 
  Group (X)    Group (Y) 
 i.  Absolute refractive index a. 1 2sin sinn i n r=  

 ii.  Relative refractive index b. /n c v=  

 iii.  Snell’s law c. thickness of slab
thickness of slab - vertical shift

 

 iv. Refractive index of a glass slab d. 
 
  

 ÏÝ (X) Τσßλ ÏÝ (Y) ←ÚϕÕ Μ↔Υô∴ ΒûΠûΥ 
úΘνϕùΘÓχΚÜλ− 

  ÏÝ (X)    ÏÝ (Y) 
 i.  Μôν♦Ωô ØÝ Ι↓↑ΩΚοΦη  a. 1 2sin sinn i n r=  

 ii.  Ικ× Ι↓↑ΩΚο Φη     b. /n c v=  

 iii. υùΡο ↑ƒ     c.
ΣΩûΚ♠τ Θ⁄Ττ

ΣΩûΚ♠τ Θ⁄Ττ , ùΜδÏιÕ ΡΚνÜ
 

 iv. ΚηΠô⁄ ΣΩûΚ♠τ     d. 
  

  Ι↓↑ΩΚο Φη 
 1. i – b, ii – d, iii – a, iv – c  
 2. i – a, ii – b, iii – c, iv – d 
 3. i – c, ii – d, iii – b, iv – a 
 4. i – d, ii – c, iii – a, iv – b 
 

 

 

125. The unit of magnetic flux density is 
 1. Weber 
 2. Tesla 
 3. Newton / m2 
 4. Newton / m3 
  ΚôϕΘκΣôΥ ≅Ονιƒ♠τ ≅ΩÏ  
 1.  ùΞΣν 

 2. ùΟυΩô  

 3. ♣ëγΟτ/ Á2 

 4. ♣ëγΟτ/ Á3 

 
 

1 2
21

2 1

v nn v n= =

1 2
21

2 1

v nn v n= =



126.  This is NOT a member of the solar system  
 1. A constellation 
 2. A satellite  
 3. An Asteroid 
 4. A Comet 
 ♦τΞÚΞ∴Ξσßρ ã↔Υχ ÏÓλΣιƒτ ≅δΚλ 

≅οΩôΘÕ  

 1.  ΙÚ ↑ηÁτ áγΟλ 

 2. ΙÚ ÕûΠχúΚôρ  

 3. ΙÚ ′ßúΚôρ 

 4. ΙÚ Ξôο ΡγΜιƒςλ 

  
 
 
127. The impurities present in the ore is called  
 1. Gangue 
 2. Flux 
 3. Slag 
 4. Mineral 
 ΘôÕ↑ο ∆ρΖ ≅ÑιΘδΚûΖ ΒπΞôß áßΞν 

 1. ∆úΩôΚ ΤôÑ 

 2. ΒΖχ€ 

 3. ÖûςΣΟΩλ 

 4. ∆úΩôΚ Τη 

 
 
 
 
 



128. The chemical change among the following 
 1. melting of ice 
 2. burning of coal in air 
 3. freezing of water 
 4. heating of hacksaw blade 
 ♦τΞÚΞ∴Ξσ°ο úΞƒ Τôσ[λ 

 1. Σ± ∆ÚÏΘο 

 2. ♣ΩχΚ↔ûΥ Κôσ°ο Φ↔ιΘο 

 3. Θη½ν ∆û[Θο 

 4. ≅ßχÏλ ΞôûΖ (hacksaw blade) ãΟôχÏΘο 

 

 

129. The bond angle of 3NH  molecule is 

 3NH  êΩχá°τ ♦ûΠκ× úΚôΠλ 

 1. 120° 
 2. 180° 
 3. 107°48' 
 4. 104°31' 
  

 

 

 

 

 

 

 



130. A solution contains 40g of common salt in 320g of water.Then 
its concentration in terms of mass by mass percentage of the 
solution is 

 1. 10.1% 
 2. 10 g. 
 3. 11.1 g 
 4. 11.1% 
 ΙÚ ΚûςΜΩô∴Õ 320 €ςôλ ¿↔ο 40 €ςôλ ΜôΘôςΠ 

∆κûΣχ ùΚôηÓρΖÕ Φ±ο ♣û[ , ♣û[ 
ΜΘÅΘιƒο ≅ϕΘ ΚûςΜ←τ ùΜ°Ü 

 1. 10.1% 

 2. 10 €ςôλ 

 3. 11.1 €ςôλ 

 4. 11.1% 

 
 
131. The natural fiber among the following 
 1. wool 
 2. nylon 
 3. PVC 
 4. polythene 
 •θχΚηΟΞσ°ο ΒΥσûΚ ΒûΨ 

 1. ΚλΣ↓ 

 2. ûΡΩôτ 

 3. ♦−↑−′ 

 4. Σô←¾τ 

 
 
 



132. Select the correct answer indicating the increasing order of the 
following fuels on the basis of their calorific values 

 i. LPG 
 ii. Diesel 
 iii. Wood 
 iv. Hydrogen  
 ♦τΞÚλ Φ↔κùΣôÚγΚ↓τ ΚúΩô↔ ΤƒκûΣ 

≅⁄κΣûΟΥôΚ ùΚôηÓ+ ΓßΞ↔ûΜûΥχ Ï°χÏλ 
Μ↔Υô∴ ΣƒûΩ úΘνϕùΘÓχΚÜλ− 
i. Φο−♦−≥ 

ii. ≈Μο 

 iii. ΤςχΚγûΟ 
 iv. ûγς⊥τ 
 1. i, ii, iii, iv  
 2. iii, ii, i, iv 
 3. iv, iii, ii, i 
 4. ii, iii, i, iv  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



133. Correct match among the following  
  Group A    Group B 
 i)  Biotin    a) Beri beri 
 ii) Tocoferol    b) Nervous disorders 
 iii) Niacin     c) Fertility disorders 
 iv) Thiamin    d) Pellagra 
 •θχΚηΟΞσû[ Μ↔ΥôΚ ú⊥ô⁄ úΜνιƒÓ 

  ÏÝ A        ÏÝ B 
 i) ΣúΥô⁄τ    a) ùΣ↔ ùΣ↔ 
 ii) úΟôúΚôùΣςο   b) Ρςλ×ι ΘΖνε′ 
 iii) ♣Υô′τ    c) ΤΩγÓιΘτûΤ 
 iv) ûΘΥ♥τ   d) ùΣοΩôχςô 
 1. i-a, ii-b, iii-c, iv-d 
 2. i-b, ii-c, iii-d, iv-a 
 3. i-c, ii-d, iii-a, iv-b 
 4. i-d, ii-a, iii-b, iv-c 
 

 

  



134. The first sharp sound of the heart “LUB” is produced due to 
 1. closing of tricuspid and bicuspid valves 
 2. closing of pulmonary and systemic valves 
 3. closing of tricuspid and pulmonary valves 
 4. closing of bicuspid and systemic valves 
 ΒΘΥιƒ←ÚϕÕ ØΘ←ο ΓσΣÓλ “Ωκ” Φτ[ Ι←χÏ 

ΚôςΠλ 

 1. ê↑Θθ ΞôοÜΚÞλ+ Χ↔Θθ ΞôοÜΚÞλ 

êÓΞΘôο 

 2. ÖûςÂςο ΘΤ± ΞôοÜΚÞλ+ ΤΚôΘΤ± 

ΞôοÜΚÞλ êÓΞΘôο 

 3. ê↑Θθ ΞôοÜΚÞλ+ ÖûςÂςο ΘΤ± 

ΞôοÜΚÞλ êÓΞΘôο 

 4. Χ↔Θθ ΞôοÜΚÞλ+ ΤΚôΘΤ± ΞôοÜΚÞλ 

êÓΞΘôο 

 

135. Lichen is an example for 
 1. Parasite 
 2. Insectivore 
 3. Saprotroph 
 4. Symbiont 
 ûΩχΚτΚρ ΒΘσÏ ∆ΘôςΠλ 

 1. ΙγÓη∞ 

 2. éε′ÙηÔΣûΞ 

 3. Μôßη∞Κρ 

 4. áγÓ♠↔ Ξôθ↑Κρ 

 

  



136. ‘Body building foods’ among the following 
 1. rice and wheat 
 2. milk and fish 
 3. groundnuts and til 
 4. papaya and mango 
 •θχΚηΟΞσ°ο »»∆Οο ΚγΟûΤκ♦σΚô∴ ∆ΠÜµµ  

1. ≅↔′ Τσßλ úΚôÕûΤ 

 2. Σôο Τσßλ Áτ 

 3. úΞνΚΟûΩ Τσßλ Φρ 

 4. ΣκΣô↓ Τσßλ ΤôδΚôµ 

 

137. The phase of cell cycle in which cell organelles divide   
 1. G1 phase 
 2. S phase 
 3. G2 phase 
 4. M phase 
 ùΜο ÑΨσ′♠τ úΣôÕ+ ùΜο ∆ßκ×Κρ ♦↔Ùλ ♣ûΩ 

 1. G1 ♣ûΩ 

 2. S ♣ûΩ 

 3. G2 ♣ûΩ 

 4. M ♣ûΩ 

 

  



138. Antibiotics are not effective against 
 1. typhoid 
 2. cholera 
 3. tuberculosis 
 4. small pox 
 Φƒν ∆♠↔Κρ ΒΞσ°τ ÁÕ ƒ[λΣΟ ùΜΥο ×↔ΥôÕ 

 1. ûΟΣôµÓ 

 2. ΚôΩςô 

 3. ΚôΜúΡôµ 

 4. ùΣ↔ΥλûΤ 

 

139. The odd one with respect to marine fisheries  
 1. Sardines 
 2. Silver carp 
 3. Bombay duck 
 4. Mackerel 
 ΚΟο Áτ ♦⁄κ× ùΘô→←ο ùΣôÚϕΘôΘ Ιτß 

 1. Μôν⁄τυ 

 2. ùΞρ↓χùΚηûΟ 

 3. ΣôλúΣ Οχ 

 4. Τôχùςο 

 

  



140. The concept of “Ecological pyramids” was first introduced by 
 1. Charles Lyell 
 2. Charles Darwin 
 3. August Weismann 
 4. Charles Elton 
 »»ãΨ←Υο ♦ςÁÓµµ Φτ[ ΚÚιƒΥûΩ ØΘτØΘ←ο 

≅°ØΚκΣÓιƒΥΞν 

 1. ΜôνΩυ ûΩο 

 2. ΜôνΩυ Οôν↑τ 

 3. ΑΚυγ ùΞµυΤτ 

 4. ΜôνΩυ ΦοΟτ 

 
141. Cone shaped trees with sloping branches are normally seen in 
 1. deserts 
 2. grass lands 
 3. mountain regions 
 4. plains 
 Μ↔Ü♣ûΩ €ûΖΚûΖÙûΟΥ áλ× Ξ⁄Ξ ΤςδΚρ 

ùΣôÕΞôΚ ΒδÏ ΚôΠκΣÓλ 

 1. ΣôûΩΞ∴λ 

 2. ×οùΞ↓ ♣Ωλ 

 3. ΤûΩκΣÏƒ 

 4. ΜΤùΞ↓κΣÏƒ 

 

 

  



142. Incorrect statement from the following   
 1. Chromosomes are composed of DNA and proteins. 
 2. DNA contains the information necessary for 

constructing  cells. 
 3. Functional segments of DNA are genes. 
 4. DNA is present only in the nucleus of the cell. 
 •θχΚηΟΞσ°ο ΘΞ[ô∴ áσß 

 1. ÏúςôúΤôúΜôλΚρ+ DNA Τσßλ ×ςΘιΘôο Α∴ 
≅ûΤκ× 

 2.      ùΜο ∆ÚΞôΞΘσÏ úΘûΞΥô∴  ΘΚΞοΚûΖ   

  DNA  ùΣσßρΖÕ  

 3. DNA ↑ÛρΖ ùΜΥΩôσßλ ΣÏƒûΥ ËτΚρ 
ΦτΣν− 

 4. DNA ùΜο←τ ∆γΚÚ↑ο ΤγÓúΤ  

  ≅ûΤϕƒÚχÏλ 

 

  



143. Assertion (A):  Many young people get acne on the face  
   during puberty. 

 Reason (R):   During puberty, the secretion of sweat  
   glands and sebaceous glands increases. 

 Correct statement based on above assertion and reason. 
 1. A correct; R  incorrect 
 2. A incorrect; R correct 
 3. A and R both correct; R is the correct explanation for A 
 4. A and R both correct; R is not the correct explanation 

for A 
 áσß (A): ΣÚΞΤûΟÙλ ΚôΩδΚ↓ο ùΣÚλΣôΩô∴ 

ΒΖλ ΞΥƒ∴νχÏ ØΚιƒο ′ßΚγ⁄Κρ 
∋ØΚκΣÚχΚρ( ≅ûΤϕƒÚχÏλ 

 ΚôςΠλ (R): ΣÚΞΤûΟÙλ ΚôΩδΚ↓ο ΦηùΠµ  
               Τσßλ ↑ΥνûΞ Ñςκ♦Κρ ≅ƒΚΤôΚ  
    Ñςχ€[Õ 
 úΤσΚηΟ áσß Τσßλ ΚôςΠιûΘ ≅⁄κΣûΟΥôΚ  
 ùΚôηΟ Μ↔Υô∴ ↑ΖχΚλ 

 1. A Μ↔, R ΘΞß 

 2. A  ΘΞß , R  Μ↔ 

 3. A  Τσßλ R ΒςηÓλ Μ↔; R  ΦτΣÕ A χÏ 
Μ↔Υô∴ ↑ΖχΚλ 

 4. A  Τσßλ R ΒςηÓλ Μ↔; R  ΦτΣÕ A χÏ 
Μ↔Υô∴ ↑ΖχΚλ ≅οΩ 

 
  



144. These seeds disperse through air 
 1. Drumstick 
 2. Xanthium 
 3. Castor 
 4. Balsam 
 ΒϕΘ ↑ûΘΚρ Κôσ°τ êΩλ ΣςÜλ 

 1. ØÚδûΚ 

 2. ΜôϕƒΥλ 

 3. ΑΤΠχÏ 

 4. ΣôοΜλ 

 

 
145. The first and foremost skill required for the scientific 

experiment 
 1. estimation 
 2. observation 
 3. conducting experiment 
 4. measuring 
 ≅°↑Υο Σ↔úΜôΘû∴χÏ úΘûΞΥô∴ ØΘο Τσßλ 

♥Κ Øχ€ΥΤô∴ ƒ[τ 

 1. Κ∞ιΘο 

 2. ∆σßúΡôχÏΘο 

 3. Σ↔úΜôΘû∴ ΡΟιÕΘο 

 4. ≅Ζ↑ÓΘο 

 
 
 
 
 
 



146. The last step in the Psychomotor domain 
 1. Imitation 
 2. Precision 
 3. Manipulation 
 4. Naturalisation 
 ∆Ζ ΒΥχΚ ΚΖιƒτ Βßƒκ Σ⁄♣ûΩ 

 1. úΣôΩε ùΜµΘο 

 2. Õο←Υι ΘτûΤ 

 3. ûΚΥôÞΘο 

 4. ΒΥοΣôχÏΘο  

 
 
147. Which of the following is not an Academic standard as per the 

State Curriculum Framework - 2011 
 1. Conceptual understanding 
 2. Creativity 
 3. Information skills and projects 
 4. Concern to bio diversity 
 2011 Τô♣Ω ΣôΟιƒγΟ Ξ⁄ΞûΤκ♦τ Σ⁄+ 

•θχΚηΟΞσ°ο Κο↑ιΘςλ ≅οΩôΘÕ ΦÕ> 

 1. ΣôΟχΚÚιûΘ ×↔ϕÕχùΚôρÞΘο 

 2. ΑχΚιƒ[τ 

 3. ΘΚΞο ƒ[τ Τσßλ ùΜΥοƒγΟδΚρ 

 4. ∆♠ν ΣτΤιƒτ ÁÕ ≅χΚû[ 

 

 

 



148. “Student gives reasons for water pollution.” – Instructional 
objective of this specification  

 1. Knowledge 
 2. Understanding 
 3. Application 
 4. Skill 
 »»ΤôΠΞν ¿ν ΤôΜûΟΞΘσΚô∴ ΚôςΠιûΘ 

áß€[ôτµµ - Φàλ ′[κ×úΡôχΚιƒτ Κσ[ο úΡôχΚλ 

 1. ≅°Ü 

 2. ×↔ϕÕχùΚôρÞΘο 

 3. ΣΥτΣÓιΘΘο 

 4. ƒ[τ 

 

149. According to Kilpatrick classification – “Project on collection 
of plants and animal products and parts” is a type of   

 1. Productive project 
 2. Utilization project 
 3. Problem project 
 4. Training project 
 €οΣôγ↔χ ΞûΚκΣôγ⁄τ Σ⁄+ »»ΘôΞςλ+ ↑ΩδÏ 

∆σΣιƒκ ùΣôÚγΚρ+ ΣôΚδΚûΖ úΜΚ↔ιΘο ÁΘô∴ 
ùΜΥοƒγΟλµµ` ΒπΞûΚûΥ úΜνϕΘÕ 

 1. ∆σΣιƒ ùΜΥοƒγΟλ 

 2. ΣΥτΣôγÓ ùΜΥοƒγΟλ 

 3. ♦ςε′û∴ ùΜΥοƒγΟλ 

 4. Σ♠σ′ ùΜΥοƒγΟλ 

 
 
 



150. Learning percentage through smell 
  ΞôΜû∴ êΩλ ΓσΣÓλ Κσ[ο ΜΘÅΘλ 

 1. 11% 
 2. 3.5% 
 3. 1.5% 
 4. 1.0 % 
 

 


